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1.  Suppose MP3-Time-Warner.com Inc. has just implemented an EVA bonus system in which all divisions will use the entire firm’s weighted average cost of capital in determining each division’s capital charge.  Discuss how such a system affects the incentive for management in divisions that are riskier than the company as a whole and that are less risky than the company as a whole to invest less or more than is optimal from a wealth maximization perspective.

Use the following information to answer questions 2 and 3.

Soon after MP3-Time-Warner.com Inc. implemented the EVA bonus system, MP3 decided to try to increase the company’s EVA by reducing its capital charge.  Management attempted to accomplish this by issuing a large amount of debt and using the proceeds to repurchase shares of common stock.  In justifying this action, management has stated that the after-tax cost of debt is less than the cost of equity and that by increasing the proportion of the firm’s assets funded by debt, the firm’s capital charge will fall.

2.  Discuss how ignoring financial distress costs may have lead management to undertake too much debt.

3.  How would you use ratios to help determine whether MP3 has too much debt?  Be as specific as possible.

Use the following information to answer questions 4 through 6

MP3-Time-Warner.com Inc. is considering building a new CD stamping facility in Waco.  The construction costs associated with this facility would equal $30 million today and $40 million three months from today.  The first net cash flow from this facility would equal $2.5 million six months from today.  Cash flows from operating the CD plant would increase by 2.75% per quarter through 10 years from today.  MP3 estimates that the standard deviation of returns on MP3 as a whole is 22%, on the new plant is 28%, and on the stock market is 25%.  MP3 estimates that the correlation between the plant and MP3 is 0.75, between MP3 and the market is 0.63, and between the plant and the market is 0.83.  If the plant is successful, it can be expanded any time during the next 3 years at a cost of $25 million.  This expansion would produce cash flows through 10 years from today.  The expected present value today of these cash flows from the expansion is $30 million.  The standard deviation of returns on this expansion would be 18% and would have a correlation with the new plant being considered of 0.96.  The return on a 1-month T-bill is 4.51% per year compounded continuously, on a 3-year Treasury strip is 5.26% per year compounded continuously, and on a 10-year Treasury strip is 5.75%.  The expected return on the market is 12.85%.

4.  What rate should MP3 use in deciding whether or not to build the plant?

5.  Ignoring the impact of the possible expansion, what impact will the project have on the value of the firm if it is undertaken?

6.  What impact does the possible expansion of the plant have on the value of the project to MP3?

7.  You are trying to convince the CFO of MP3 that it should halt its regular quarterly dividend payments and begin to repurchase shares by issuing transferable put rights.  What benefits of such an action should you mention to the CFO?

8.  The CEO of MP3-Time-Warner.com Inc., Michael Robertson, currently owns $850 million of stock in the company.  Michael Robertson’s financial adviser has suggested that Mr. Robertson sell some of his stock in MP3 in order to become more diversified.  Using graphs, demonstrate and discuss how Mr. Robertson would be better off using the proceeds from selling some of his MP3 shares to invest in Ford Motor Company (with a correlation to MP3 of 0.62) rather than in Atlantic Records Inc. (with a correlation to MP3 of 0.94).  In either case, Mr. Robertson will also use some of the proceeds of the sale of MP3 stock to invest in U.S. Treasuries.
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Answers:

Note:  for essay questions, the numbers in the brackets represent how many “check marks” a particular thought is worth.  The scale at the bottom of each question indicates how many checks are needed to get a certain number of points out of 50.

1.  Management in divisions that are riskier than the company as a whole will tend to invest more [4] than is optimal.   These managers will have an incentive to undertake any project that earn less than the required return [2] for the project given the project’s risk but which earn a return a return greater than the firm’s weighted average cost of capital [2].  Note:  these projects will increase the calculated EVA of the division even though it reduces the value of the company.  [4]

Management in divisions that are less risky than the company as a whole will tend to invest less [4] than is optimal.  These managers will have an incentive to reject any project that earns more than the required return [2] for the project given the project’s risk but which earns a return that is less than the firm’s weighted average cost of capital [2].  Note:  these projects will decrease the calculated EVA of the division even though it increases the value of the company. [4]

Scale:  [checks = points]:  28=50, 22=48, 20=46, 14=44, 12=42, 10=39, 8=36, 4=34, 2=30

2.  If the optimal capital structure occurs where the benefits of an additional dollar of debt and the costs of an additional dollar of debt are equal [4], then if the firm ignores part of the cost of debt it will issue too much debt.

Costs from financial distress:

1)  Bankruptcy costs [4] such as legal fees [1], reorganization costs [1], court costs [1], administrative costs [1].  Note:  these costs are small [2]

2)  Possibility that EBIT < interest [4] so that lose tax deduction [4] associated with the debt

3)  Loss of confidence in the firm so that:

- lose sales [2]

- higher credit costs/interest rates [2]

- loss of key employees [2]

- loss of credit purchases [2]

4)  Diversion of resources

- management effort on surviving rather than maximizing value [2]

- forgone maintenance [2]

5)  Bondholders tighten down on the firm if attempt to issue additional debt

- tighter restrictions in covenants [2]

- increased monitoring [2]

- more convertible debt [2]

Scale [checks = points]:  28-32=50, 18=46, 16=44, 14=42, 12=40, 10=38, 9=36, 8=35, 7=34, 6=32, 5=30, 2=25
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3.  1)  Calculate the debt ratio [4] (TD/TA [1]) or debt to equity ratio (TD/TE) to see if it is far above industry average [4] or industry leader.

2)  Interest coverage ratios [4] (EBIT/IE [1]) to see if less than 1.0 [2] and/or industry average [2] or industry leader.

Also => look for stability [4] of the interest coverage ratio in the past => if volatile then less able to support the debt.

Note:  industry comparisons may be flawed if:

1)  MP3 uses very different accounting methods [1] than the industry or leader

2)  MP3’s assets are older/newer than the industry (so that book values are a poorer reflection of market values) [1]

3)  MP3’s sales are highly seasonal [1]

4)  MP3’s industry is in trouble [1]

Scale [checks = points]:  17=50, 16=47, 15=45, 13=40, 12=37, 11=36, 10=35, 9=34, 7=32, 3=25
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Partial Credit:  Equations , r [+10 each], rf [+5]; variables [+5 each]
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Partial credit:  Equations:  r(1/4), PV of growing annuity [+8 each], PV of single sum [+5 each]; Variables:  ¼, 1, 39, 1 [+4 each], -30, -40, 2.5, .0275 [+2 each]
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Partial credit:  Equations:  d1, C0 [+10], d2 [+5]; variables [+4 each]; N() [+5]
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7.  Stockholders will pay less taxes since only the gain is taxed [8] on a repurchase and it is taxed at a lower rate [2]

Transferable put rights are preferable to tender offers [2] as a method for repurchasing shares since:

1)  There is no wealth redistribution [2] with transferable put rights

=> if don’t want to sell back shares, can sell TPRs [2]

2)  No oversubscription problem [2]

=> TPRs control how many shares can be offered to the company [1]

3)  Tax gain relative to a tender offer [2]

=> only those who would realize low taxes from selling share [1] do so, everyone else sells their puts tax free [1].

Scale [checks = points]:  18=50, 16=48, 14=46, 13=44, 12=42, 11=40, 10=38, 8=36, 6=35, 3=31, 2=28, 1=25
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